
Use Gaussian elimination method to solve the following equation.
2x-3y+2z=6
x+4y-3z=12
3x-5y+2z=8

Solution.2 −3 2 6
1 4 −3 12
3 −5 2 8

 →
subtract row1 from row3

→

2 −3 2 6
1 4 −3 12
1 −2 0 2

→
multiply row2 by 2 & add to row2 3*row1

→

2 −3 2 6
8 −1 0 42
1 −2 0 2

→
subtract from row2 8*row3 & divide row2 by 15 & add to row3 2*row2

→

2 −3 2 6
0 1 0 26

15

1 0 0 82
15

→
subtract from row1 2*row3 & add to row1 3*row2 & divide row1 by 2

→

0 0 1 2
15

0 1 0 26
15

1 0 0 82
15


Answer: x = 82

15
, y = 26

15
, z = 2

15
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